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1. Intheequationy=7x + 3, asthevalue of x decreases by 1, what happensto the value of y?

It increases by 3.
It decreases by 3.
It increases by 7.
It decreases by 7.

SOwP>

2. A cel phone company charges $5.00 a month plus an additional $0.10 per call. A competitor
charges $10.00 a month plus an additional $0.05 per call. What isthe differencein cost if 150 calls
are made on each plan in one month?

A. $2.50
B. $7.50
C. $17.50
D. $20.00

3. Theexpression — 16t%+ 100t representsthe height in feet of arocket t seconds after it is

launched. The expression — 16t%+ 80t + 4 representsthe height in feet of a second rocket t
seconds after it islaunched. Which expression is equivalent to the differencein the heights of the
two rocketsin feet?

A. 20t+4
B. 20t—4
C. —32t24+20t+4
D. _32t2+20t-4

4. A plumber usesthe equation ¢ =35h+ 70 to determine the total amount of money charged for
a servicecall, where h represents the number of hoursworked and 70 represents a one-time fee.
Based on this equation, how much should she charge for working 1.5 hours on a service call when
no partsarerequired?

A. $52.50
B. $105.00
C. $122.50
D. $140.00
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5. A building supply company sellsgravel for afixed delivery fee of $50 per order plus $75 per cubic
yard. Which table correctly showsthetotal cost of delivered gravel for different amounts of cubic

yards?
A. Cubic Yards Total Cost
g-Gravel
bk $125
2 $250
5 $625
10 $1250
B. Cubic Yards Total Cost
of-Gravel <75
2 $150
5 $375
10 $750
C. Cubic Yards Total Cost
ot-Gravel S5
2 $150
5 $375
10 $750
D. Cubic Yards Total Cost
oF-Gravel S5
2 $200
5 $425
10 $800
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6. Which equation isrepresented by the graph below if p = profit and b = number of boxes sold?

Band Booster Club Fund Raiser
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p=3b+24
b= -3p+24
p=—3b-24
p=3b-24
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7. What doesthe slope of this graph represent?

y
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Gallons
A. number of milestraveled
B. gallonsof gas used
C. milesper galon
D. speed of vehicle
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8. An edementary school consists of kindergarten (grade O) through grade 5. The
equation n= — 38g+ 378 can be used to determine the number of students, n, who started the
school in kindergarten and who are still in the school at grade g. Which description representsthe
meaning of 378?

the number of students who started at the school in kindergarten

the number of students who were at the school at the end of grade 1

the number of students who started at the school in kindergarten but who left at each grade

the number of students who started at the school in kindergarten and who were still there at the end of
grade 5

SnEp

9. Ifthegraph below istrandated 3 unitsup, which equation would the graph represent?
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A, y=2x+2
B. y=2x+4
C. y=2x+5
D. y=3x+5
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10. The graph below represents the equation y =2x — 1.
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Which statement accurately predictsthe effects on the graph if the slope of theline is changed to
3?

The graph is closer to being a vertical line but still slants to the right.

The graph is closer to being a horizontal line but still slants to the right.

The graph is closer to being avertical line and changes to dant to the left.
The graph is closer to being a horizontal line and changes to slant to the left.

SO®P>

11. Theequation y = 50x+ 30 representsthe amount of money, y, in Amy’s savings account over
time, X. The equation y = 30x+ 50 represents the amount in Sally’ s savings account. How doesthe
graph of Sally’saccount differ from the graph of Amy’s account?

A. The graph representing Sally’ s account starts lower on the y-axis.
B. The graph representing Sally’ s account starts closer to the origin.
C. The graph representing Sally’ s account is steeper.

D. The graph representing Sally’ s account is flatter.
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12. Lucy finds a bucket with 2 pebbles in it and adds 1 pebble to the bucket each day. The equ
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If Lucy had decided to add 3 pebbles per day instead of 2, which graph would represent th
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13. Intheinequality below, let x represent the number of cakes a bakery makes each day.

5x+15<240
Which phrase most accurately describesthe number of cakesthe bakery makes each day?

A. lessthan 45 cakes
B. at most 45 cakes
C. exactly 45 cakes
D. morethan 45 cakes

14.

|l

f 4n—3)+2n=12 what is the value of n?
1

15

4

6

eow >

1
73

15. Thepoint (-1, —4) lieson thelinerepresented by which of the following equations?

A. x—y=3
B. 2x+3y=-10
C. 3x+4y=13

D. 4x—-2y=-12
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16. Which graph can be used to find the solution of this system of equations?
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17. TheMath Club raised money for its spring banquet by washing vehicles. The club charged $3 per
car and $5 per truck. The club earned atotal of $510 for washing 122 carsand trucks combined.
How many carsdid the club wash?

36
50
72
86

Sowp
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18. What ordered pair representsthe solution to this system of linear equations?

3y=2x+2
y:%x+1
~ (4
> (=33
© )
D (1 1)

2> 3

19. Thetables below show five pointson thelines of two different linear equations.

Linel
X y
1 3
2 5
3 7
4 9
5 11

Line2
X y
1 15
2 13
3 11
4 9
5 7

Jenna concludesthat (4, 9) isthe solution to the system of these two equations. Which of the
following justifies her conclusion?

The point (4, 9) appears in both tables.

Only these two lines contain the point (4, 9).
These two lines have the same rate of change.
These two lines are perpendicular to each other.

SO®P>

20. Which quadratic equation has a graph with a minimum at (-2, 5)?

y=x2-4x+9
y=x2+4x+9
y=Xx2+3
y=x2+5

SO P

DLA Review Printable Version Page 9 of 11



21. A ball will be thrown upward from a height of 20 meter s above the ground, with an initial velocity
of 15 metersper second. Itsdistance from the ground, d, isa function of the timein seconds since
the ball wasthrown, t. Thisfunction isgraphed below.

Ball’s Distance from
Ground over Time
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How many seconds after the ball isthrown will it be 20 metersfrom the ground again?

1 second

2 seconds
3 seconds
4 seconds

Sow»

22. Which quadratic function opensupward and hasitsvertex at x = 6?

A. flx)= —4x2+48x—18

B. f(x)= —2x2+24x+12
C. f(x)=3x2-36x+9
D. f(x)=6x2—8x+5
23. ) . . 2
What is the y-intercept of the graph of the equation y = 2( X— 3) +77
A. -3
B. 6
C. 7
D. 25
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24. Which of the following expressions is equivalent to (a2bc3fab*c3)?

A. g2pic6
B.  g2ptco
C. a3b5C6
D. a@3p>co
25. 2 3h4
Which expression is equivalent to —5——="7
fgh
7
A. f’'g2h
11 _43.9
C. g2
f'h
D g3
f'h
26. 4q2 rsz
Which expression is equivalent to T2 T) ?
A. 4q?
5
B. 4qg%r
58
C. 4g3s
S¥
D. 2042
r3s3

27. (24m—2n4)_2 _
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